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Note : This section contain six questions. Attempt

ENVIRONMENTALSTUDIES any two questions each question carries 30
(PT/D-008) marks. | 2x30=60
qe: @IS H & ued 8| et & uedl & one iftra |
Time : fi; Hours] [Maximum Marks : 100 TAF U9 30 F F 2
Note : This paper is divided into three Sections-A, B 1. Write an essay on the importance of forests.

and C. Section-A contains Long Answer
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Questions, Section-B contains Short Answer 2. Define pollution. Describe water pollution in
Questions and Section-C contains Very Short detail.
Answer Questions. Attempt all the Sections T TRIQ | STt HGT il q
. g |
as per Instructions.
3. Describe in detail the structure and function of an
g9 99-09 # dF @IE - , S dur g ® ecosystem read by vou.
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4. rite an essay on Biogeographical classification
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Write notes on :
feufrgi forfaa -
(i)  Thermal pollution
AN S
(ii) Soil erosion
Hal e

Write notes on :
feuoft fafau -

(1) Ecological Succession

qrifafa SreEaeT
(ii) Ecological pyramid
nRfafes s
Section-B
gus-g

(Short Answer Questions)
(ag ada ae)

Note : This section contain three questions. Attempt

T :

7.
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any one question of them. Each question carries
20 marks. [#20-20
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Give a brief account of conservation of Biodiversiy
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Describe Soil pollution.

gal 93y F gl S |

[rescribe hot spots of Biodiversity,
Ha Rfaar # e alte @1 @i
Section-C
grs-H
(Very Short Answer Type Questions)

(afer &g Swla ae)

Note : This question contains five parts. Attempt

any two parts. Each part is of 10 marks.
2x10=20

e : T OSSR & et @ g A
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10. (i) Wildlife Protection Act
T SfaT g iy
(i1) Acid rain
3T
(iii) Pond ecosystem
SIER(EG
(iv) Green house effect
I IR
(v) Drought
T&r
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